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Applying
Knowledge

Warm Up Grade 8

Friday, Nov. 25, 2016
Similar to test question

1) Jack and Ted have competing paving companies. The school wants to hire the
one of the companies to pave a path to school. They have two choices;

(‘;e_d travels along route 1 but charges $20 per meter
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Lb/) How much will Jack Charge? (Requires more work than part a)
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c) Who has the better deal for the school?

Dack C\\ar%u less Aj?)"69 8.-0b0O

AYQU .00 L) Yo
332 8- Scx\le— "’[\ (1

$11.40




gr 8 u1 sqre day 18 pythag prob and test review day 1 WS.notebook November 25, 2016

Warm Up Grade 8

1) Jack and Ted have competing paving companies. The school wants to hire the
one of the companies to pave a path to school. They have two choices;

schooal

Ted travels along route 1 but charges $20 per meter Route 2
Jack travels along route 2 but charges $22 per meter 86
start

Route 1
150 m

a) How much does Ted charge?

20m+150m=170 m

x $20 Ted charges $3400
$3400

b) How much will Jack Charge? (Requires more work than part a)

Need to find route 2 ...THE Hypotenuse
cC2=a2 + b2
c2= (150 m)2 + (20 m)2
c2=22 500 m2 + 400 m2

c2=22 900 m2
c= 422900 m2

c=151.3m
Jack Charges
151.3 x $22 = $3328.60 $3328.60

c) Who has the better deal for the school?

Jack is the better deal. He charges $71.40 cheaper.
$3400 - $3328.60 = $71.40



gr 8 u1 sqre day 18 pythag prob and test review day 1 WS.notebook November 25, 2016

%'gg = a2 Fb° 2
& G 57—: 'J._JLB
| 28 =t +19

25-9 - & -1

7SI S

2
o33 o =
0\1_: o m:—{ﬂ?
c-= b 4 —c
Gz Yy
The ladder reaches L 4 m

ol
)D\ )DK
]

3+ 2 4L
— 3
L o2\ C =c
= b 2 2
2 OUL_I_QL’,L 7—"}'2:0'_;/’}0
¢, =0 S = o*¥(e0
CL: |00 -)(:57(0 5|(,- ’00:6_7;—\400
G = b 4l =o
’\_(?c b —(.,ﬁ(oJ{a/?'
=20 2% = o

b) 2 ahswersS ore \ooss',b’-e Ec,(,ouu\)e,
VE doesh T Sax, ¥ 24 1s one
l24 8¢ dhe hupstenve.



gr 8 u1 sqre day 18 pythag prob and test review day 1 WS.notebook November 25, 2016

) AN =t b
3l ~ o
" (;»;qbq"sff
ct= 45
‘ Ky - 75
s C?-Zaz‘n"g_
oE:QZ_J;Lél
A5 +3
i F= b
o =10/
cC = 7.9
C L0
S
07.__: @L’)/bl
i CRE 4 Ye
o= 25 F 246D
- W2 AS
<& ={gas
c = b5

The o\'wgthﬂ choud be S em



gr 8 u1 sqre day 18 pythag prob and test review day 1 WS.notebook November 25, 2016

7
m




gr 8 u1 sqre day 18 pythag prob and test review day 1 WS.notebook November 25, 2016

SR
2 24l

2
7__'\ - ov
; 2129+ 127
2" 2 |453
Home L2 = MY
/’kgtu\sw. :m*st = 29.2m
@3 2 2t
C Y C~ 1—)"’"01
(M) =
) T L\:?igb = o2+ 1bod
A= .\Cx.blz 2360 — o
= \?‘%ooq}t&bu _{m; 65\7
s14= o

M Ty gewl, Crom f} -+ B, you
P e ".\g)w'&- 4 and wp S

To (ch: Ciom B W F} Yole
move down 3 and Jeft 4 s, F
’IS ‘BA( Sam€ o\}S‘tal)Oe —9!'0;.4 i

AS B I|S.



gr 8 u1 sqre day 18 pythag prob and test review day 1 WS.notebook November 25, 2016

©\‘o- c =5

Pyme
G\afk“;h. OO Soonna hormsﬁ
wd ke BoOOm
Sohod S ODw~ 5::32_"‘\5 G{sz:l:‘oz )
et =300 7 500
= 00D F 2S00
- —2z =-{ 2400D
b c= 633

| 7 ,
’V/‘vlf chorbert 18 21T m <charker




gr 8 u1 sqre day 18 pythag prob and test review day 1 WS.notebook November 25, 2016

\ Ciass/ Homework =¥

\/

’\,

36

Worksheet: Unit 1 Test Review [k

3 AX 1%

Complete all questions on the worksheet 2 x 12

® Yx g

S MNC Unit 1 Test - o
CTo¥ S

B St %Pms%uesday, Nov. 29 1) 2 \i,t.ﬁ,n,lz
STUDY ke
odd

S perkd-



Attachments

Q gr 8 ul sqgre test REVIEW WORKSHEET.doc
Q gr 8 ul sqgre test REVIEW WORKSHEET Nov 25 2016.doc



[image: image1.jpg]+4.cm

Il
T

11'cm




Grade 8


Unit 1 – Square Roots and Pythagorean Theorem Test REVIEW

Show your work for the following

1.
List the factors of 216.   Is the number a perfect square? Explain with numbers of factors.

2.
Find the square root of the following using the given method:


(a) √ 1764 – product of perfect squares



(b) √ 4900 – prime factorization (hint: TREE)
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3.
Find the length of the indicated side in each triangle (SHOW WORK)

(a)                                                                                               (b)
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4.
Find the length of the diagonal, d, in this rectangle.


5.
Simplify.


a)
square 49

=  _____

b)
square root of 36
=  _____


c)
(√35)2   = _____

6.  Estimate the following (make sure to show work)



(a) √ 190


(b) √ 20

8.
Determine whether a triangle with each set of side lengths is a right triangle. 
Justify your answers. (Show work)


8cm, 9 cm, and 11 cm




10.
A trucker has two companies to choose to work at.  


                  Company A follows route 1 and pays $15/km  


                  Company B follows route 2 and pays $19/km 


. 



a) What is the trucker’s pay if he goes with company A?

b) What is the trucker’s pay if he goes with company B?

(Note: this requires 2 steps)


c)
Which is the better option? Explain


Name:________________
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